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Н"сос% с бе()*(о+%,* * -*)е./(%,* -+*0"1е.2,* 
(")%+"31 ,о1о4о,4",*. 5о1о4о,4% 46*,е(231с2 -.2 
4о-"7*, 4е6е8"7*+"(*2 * 4е6е,е9*+"(*2 бо./9*: 
об;е,о+ +о-% + се./с8о, :о)2йс1+е, с16о*1е./с1+е, 
8о,,=("./(%,* * с4"с"1е./(%,* с.=жб",*. Х"6"8-
1е6*)=31с2 об9*6(ой об."с1/3 46*,е(е(*2: *66*0"-
ц*2, 4ож"6о1=9е(*е, ос=9е(*е +о-ое,о+, б"ссей(о+, 
8о.о-це+ * -6=0*: )"1о4.е((%: об;е81о+. A с6"+-
(е(** с (е4ос6е-с1+е((о 4ож"6(%,* ,о1о4о,4",* 
* ("сос",*, ,о1о4о,4% обBе0о (")("7е(*2 *,е31 
бо.ее с."б%й ("4о6, (о 0."+(ой :"6"81е6*с1*8ой 
-.2 (*: 2+.2е1с2 46о*)+о-*1е./(ос1/. A со7е1"(** 
с (ебо./9*,* 6"),е6",* * ,".%, +есо,, " 1"8же *с-
8.37*1е./(ой ("-еж(ос1/3 * -о.0о+е7(ос1/3. 5о1о-
4о,4% CHAMPION =-"7(о со7е1"31 + себе -ос1=4(=3 
це(= * +%со8*е 1е:(*7ес8*е :"6"81е6*с1*8*.
1.  М"т"п"мпы д()*т+* ,- ,(+.")/." 01д"0: 
—  4о,4% д)* 2-3"ты + 41+т"5 1 +)(6.- 7-62*7,(,,"5 

0"д"5 (бе) ,"68*6о+8* 4ос.е обо)("7е(*2); 
—  4о,4% д)* 2-3"ты + +1)/," 7-62*7,(,,"5 0"д"5 

(4ос.е обо)("7е(*2 ,"68*6о+8" “C”); 
—  0ы+".",-п"2,ы( м"т"п"мпы (4ос.е обо)("7е(*2 

,"68*6о+8" Н). 
2.  8" т1п9 д016-т()* ,о1о4о,4% -е.21с2 (" 3(,71-

,"0ы( * д17()/,ы(. 
3.  8" д1-м(т29 0:"д,"6" 1 0ы:"д,"6" "т0(2+т15 

,о1о4о,4% 4о-6")-е.231с2 (":  
1-дю5м"0-* (25 ,,); 1,5-дю5м"0-* (40 ,,);  
2-дю5м"0-* (50 ,,); 3-дю5м"0-* (80 ,,),  
4-дю5м"0-* (100 ,,). 

Вы3"2 м"д()1 4о,4% )"+*с*1 о1 ее 46*,е(е(*2 
+ 8о(86е1(%: =с.о+*2:. Dс:о-(%,* -"((%,* -.2 +%-
бо6" 2+.231с2: 
1.  М-.+1м-)/,-* п2"170"д1т()/,"+т/ 4о,4%  

(./,*(). 
2.  Вы+"т- 2-+п")"=(,1* 4о,4% 4о о1(о9е(*3 

8 =6о+(3 4о+е6:(ос1* )"бо6" +о-%. 
3.  8"т(21 0" 02(м* п(2(д-41 0"ды (0*-6ос1"1*7е-

с8ое со46о1*+.е(*е + 16=бо46о+о-":, сое-*(е(*-
2:, 86"(":).

При выбор( )о*о+о)+ы и,+о-./01*( ,-(203-
403 5ор)0-0: 
Q — 46о*)+о-*1е./(ос1/ 4о,4% (./,*(). 
H = Hs + Hd + Pr — A%со1" 1о78* 6")бо6" о1 4о-
+е6:(ос1* )"бо6" +о-%. 
Hs — +%со1" 6"с4о.оже(*2 4о,4% 4о о1(о9е(*3 
8 =6о+(3 4о+е6:(ос1* )"бо6" +о-% (,"8с*,=,  
8.5 ,е16о+ -.2 с",о+с"с%+"3B*: =с16ойс1+ 4о 
)"8о(= Cо66*7е..*). 
Hd — +%со1" 4о-;е," (,). 
Pr — -"+.е(*е ж*-8ос1* (" +%:о-е *) 1о78* 6")-
бо6" (1 E"6 *.* 10 ,е16о+ +о-2(о0о с1о.б"). 
L — обB"2 -.*(" 16=бо46о+о-о+ о1 1о78* )"бо6" 
-о 1о78* 6")бо6". 
L = Ls + Ld + K, 6д( Ls — -.*(" 16=бо46о+о-" о1 
1о78* )"бо6" -о 4о,4%, Ld — -.*(" о1 4о,4% -о 
1о78* 6")бо6", K — F8+*+".е(1 + ,е16": 0*-6"+-
.*7ес8*: 4о1е6/ + 16=бо46о+о-":, сое-*(е(*2: 
* 86"(": (46*+е-е(% + 1"б.*це). 

П67896 6:СЧ9Т:: 

G.2 ,о1о4о,4% ,"8с*,"./(ой 46о*)+о-*1е./-
(ос1/3 600 ./,*( (2 -3й," (" +:о-е + 2 -3й," 
(" +%:о-е *.* 50 + 50 ,,), =с1"(о+.е((ой (" 
6"сс1о2(** 2 , о1 +о-ое," (Ls = 2 ,) с -.*(ой 
4о-"3Bе0о 9."(0" 40 , (Ld = 40 ,). Gо4о.(*-
1е./(о 46*сое-*(е( 86"( H = 1 со0."с(о 1"б.*це 
0*-6"+.*7ес8*: со46о1*+.е(*й. Iо,4" =с1"-
(о+.е(" (" +%со1е 1,5 , о1 4о+е6:(ос1* )"бо6" 
(Hs = 1,5 ,). A%со1" 1о78* 6")бо6" о1 ,о1о4о,-
4% 46е-4о."0"е1с2 1,5 , (Hd = 1,5 ,). Jе."е,ое 
-"+.е(*е (" +%:о-е (+ 1о78е 6")бо6" -о.ж(о 
сос1"+.21/ 1,2 "1,осKе6, 71о соо1+е1с1+=е1 46*-
,е6(о 12 , +о-2(о0о с1о.б" (Pr = 12 ,). 

1.  L"с7е1 обBей -.*(% 16=бо46о+о-о+:  
L = Ls + Ld + K = 2 м + 40 м + 1 м = 43 м.

2.  L"с7е1 обBей +%со1% 4о-;е,": 
H = Hs + Hd + Pr = 1,5 м + 1,5 м + 12 м = 15 м. 

3.  G.2 о46е-е.е(*2 6"с:о-" +о-% + 1о78е 6")бо6"  
(еоб:о-*,о ("й1* F8+*+".е(1(=3 +%со1= 4о-;е," 
4о Kо6,=.е: 
Hэ = ? + 0,25L  
+ ("9е, с.=7"е ?э = 15 + 0,25 × 43 = 25,75 м.

4.  Н" 06"K*8е )"+*с*,ос1* +%со1% 4о-;е," о1 46о*)-
+о-*1е./(ос1* 4о,4% (":о-*, +е.*7*(= 6"с:о-" 
+о-% + 1о78е 6")бо6" о1 4о.=7е((о0о )("7е(*2. G.2 
46*(21%: *с:о-(%: -"((%: 4о.=7е((ое )("7е(*е 
6"с:о-" +о-% сос1"+.2е1 46*,е6(о 200 ./,*( *.*  
12 ,3/7"с.

A-3)1B- 61д2-0)14(+.1: +"п2"т10)(,15 (.)

510 л/мин

840 л/мин

1090 л/мин

H
Hd

Hs

Ls

50 м

20 м

15 м

10 м

860 л/мин 760 л/мин 580 л/мин

100 м 150 м

Ld

L=Ls+Ld+K

max = 27 м

5 м

1200 л/мин

1070 л/мин

870 л/мин

max = 8 м

1 м

3 м

A1п +"(д1,(,1* В1д  
+"(д1,(,1*

C1д2-0)14(+.1( 
п"т(21 (D)

H6"( 4о.(ос1/3  
о186%1%й  

1 м

C-об6")(%й  
4е6е:о-(*8  

3 м

L")+о6о1 ("180º
 

2,5 м

Iо+о6о1 (" 90º
 

2 м

D)0*б (" 45º
 

1,5 м
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* I.о1(ос1/ 4е6е8"7*+"е,ой 062)(ой +о-% (е -о.ж(" 46е+%9"1/ 1100 80/,3. Mо-е6ж"(*е ,е:"(*7ес8*: 46*,есей -о4=с8"е1с2 (е бо.ее 10%  
   о1 обBе0о об;е," +о-%.  5"8с*,"./(%й -*",е16 1+е6-%: 7"с1*ц -о4=с8"е1с2 (е бо.ее 5 ,,.

 8EF?GHIJK?LMAF  D  МLAL8LМ8GМ

C2524 Nо.о+8" ,=K1о+"2 N5-25 1 GP26-II, GP27–II, 
GHP40-2*, DHP40E*

C2545 Nо.о+8" ,=K1о+"2 N5-38/50 1,5 GP40, GP40-II,  
GHP40-2*, DHP40E*

C2500 Nо.о+8" ,=K1о+"2 N5-50 2 GP50, GP52, GP55, 
DP50E

C2530 Nо.о+8" ,=K1о+"2 N5-80 3 GTP80, GTP82, DTP81E

C2501 Nо.о+8" ,=K1о+"2 N5-80 3 GP80, GTP80H

M2548  Nо.о+8" ,=K1о+"2 N5-100 4 GP100E, GTP101E

C2525 Nо.о+8" 6=8"+("2 NL-25 1

C2502 Nо.о+8" 6=8"+("2 NL-38/50 1,5/2

C2503 Nо.о+8" 6=8"+("2 NL-50 2

C2504 Nо.о+8" 6=8"+("2 NL-80 3

M2532 Nо.о+8" 6=8"+("2 NL-100 4

M"0м(+т1м"+т/ 
+ м"т"п"мп-м1 CHAMPION N"т"G2т1.9)  Ø, дю5мы?-1м(,"0-,1(

C2527 M1+о. 4ож"6(%й LM-50

G2т1.9) G2т1.9)?-1м(,"0-,1(

C2515 O*./16 +с"с%+"3B*й 38 (1,5") GP40, GP40-II, GHP40, DHP40E
C2514 O*./16 +с"с%+"3B*й 25 (1") GP25-II, GP26-II, GP27-II
C2516 O*./16 +с"с%+"3B*й 50 (2") GP50, GP51, GP52, DP50E
C2517 O*./16 +с"с%+"3B*й 80 (3") GP55, GP80, GTP80, GTP82, GTP80H, DTP81E
C2518 O*./16 +с"с%+"3B*й 100 (4") GP100, GTP101E

C2521 L=8"+ +с"с%+"3B*й 50 4

C2520 L=8"+ +с"с%+"3B*й 80 4

C2505 L=8"+ +с"с%+"3B*й  100 4

C2508 L=8"+ +с"с%+"3B*й с 0о.о+8ой NL-50 50 4

C2509 L=8"+ +с"с%+"3B*й с 0о.о+8ой NL-80 80 4

C2549  L=8"+ +с"с%+"3B*й c 0о.о+8ой NL-100 100 4

C2541 L=8"+ ("4о6(%й  25 20
C2540 L=8"+ ("4о6(%й  38 20
C2529 L=8"+ ("4о6(%й  50 20
M2546 L=8"+ ("4о6(%й 80 20
C2544 L=8"+ ("4о6(%й 100 20

M2550 L=8"+ ("4о6(%й 50 100

C2551 L=8"+ ("4о6(%й 80 100

M2547 L=8"+ ("4о6(%й с 0о.о+8ой NL-25  25 20

C1372 L=8"+ ("4о6(%й с 0о.о+8ой NL-38/50 38 20

C2542 L=8"+ ("4о6(%й с 0о.о+8ой NL-50 50 20

C2543 L=8"+ ("4о6(%й с 0о.о+8ой NL-80 80 20
M2526 L=8"+ ("4о6(%й с 0о.о+8ой NL-100 100 20

G2т1.9) Ø, мм H)1,-, м N"т"?-1м(,"0-,1(

G2т1.9) ?-1м(,"0-,1( M"0м(+т1м"+т/ 
+ м"т"п"мп-м1 CHAMPION N"т"


